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sxum | A zmex seale ~e s eI

e Hs < (2) (£ /min) (Oh/cm)
# | 43 JzEH 70 14.5 0.006 IS RL
|43 s 70 14.5 0.007 S RL
R BV SGIPN 70 14.3 0.007 J1Ex ol
VS 70 14.3 0.005 IESRIL
45| 43 2Ry 70 14.4 0.004 S RL
46 | 45 2Ry 70 14.5 0.005 J1=x ol
A RVEREE N 70 14.5 0.005 S RL
48 | 4z 2msa 70 14.4 0.007 J1Ex ol
#9 | 4Z AoinBA2 70 14.5 0.006 IESRL
#10 | 4% 0|2 70 14.7 0.004 IS RL

12 102
#11 | 42 20lmA2 70 14.7 0.006 J1Ex ot
#12 | 4% 28B4 70 14.6 0.006 IESRL
#13 | 45 25t DAY 70 14.5 0.005 SIS RAL
#14 | 4% 28R4 70 14.5 0.004 IESRL
#15 | 43 3-6u 70 14.4 0.006 S RL
#16 | 43 3-6% 70 14.5 0.007 J1Ex ol
#17 | 43 36w 70 14.3 0.006 IESRL
#18 | 43 3-5% 70 14.5 0.005 SIS RL
#19 | 43 359 70 14.4 0.005 J1Ex ol
420 | 4% 35w 70 14.5 0.006 IS RL
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4-2. £¥&

LT =59% ST | TEy | e e
o1 45 =25 70 14.7 0.007 JIZ=R 0I5k
w2 | 4z =g 70 4.5 0.007 JIZ=R 015k
13 | 4z =g 70 4.5 0.005 JIZER 015k
#o4 | 43 33D oA 70 14.6 0.006 JIZE 0I5k
#5 | 4% 3stEm oA 70 14.5 0.006 JIZ=R 015k
46 | 45 33tEDoA 70 14.6 0.004 JIZ=R 0I5k
#o7 45 34 70 4.6 0.005 JIZ=R 0I5k
#28 45 3-4 70 14.4 0.004 JIZ=R 0I5k
#29 42 34 70 14.7 0.006 JIZER 013k
#30 4% 33 70 14.8 0.007 JIZER 0I5k
#31 4= 33 70 14.8 0.005 J1Z=R 015k
#32 45 33 70 4.6 0.005 JIZ=R 0I5k
#33 45 32 70 4.5 0.006 JIZ=R 013k

18 112
#34 45 32 70 14.7 0.004 JIZE 0I5k
#35 45 32 70 14.6 0.004 JIZER 0I5k
#36 45 31 70 14.6 0.005 J1Z=R 0I5k
#37 45 31 70 14.4 0.006 JIZ=R 013k
#38 45 31 70 14.3 0.005 JIZ=R 0I5k
#9 | 43 =2 70 14.4 0.007 JIZE 0I5k
w0 | 4z =0 70 14.6 0.007 JIZER 0I5k
41 45 =52 70 14.6 0.006 J1Z=R 015k
po | 4z =e0 70 14.5 0.007 J1Z=% 0l
#3 | 5= 2w3a 70 4.5 0.005 JIZ=R 0I5k
4 | 52 23 70 14.7 0.004 JIZER 0I5k
ps | 52 oA 70 14.7 0.004 JIZER 015k
e | 52 e 70 14.6 0.005 J1Z=R 015k
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NEEE #o1,22 #23 #24,25,26 #27,28,29
RPN 45 =S 45 =5 45 38D A 45 3-4
=5l JIZX 015t JIZX 015t JIZR 0l JIZERI ol

AHEICH X

ANEBS #30,31,32 #33,34,35 #36,37,38 #39,40
HF 2 X 45 3-3 45 3-2 45 3-1 45 |2
=42
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WEEPY 45 =2 55 2934 55 2934 55 HEHal
=32} JIZX 0I5t JIZER 0I5t JIZER 0l6H JIZX olat




=mun | NE =59/% SEA = e Sdst
HS (2) (4 /min) (N /)
#a7 | 3% BsraD 70 14.5 0.006
B8 | 3= DsraID 70 14.5 0.005
#49 | 33 WA 70 14.6 0.005
#50 | 3% Dsralp 70 14.5 0.004
#51 | 33 Bstal 70 14.7 0.005
#50 | 3= DAl 70 14.7 0.004
#53 | 3= Betal 70 14.6 0.006
#54 | 3% BeEyA 70 14.5 0.005

12 1oy
#55 35 =oy 70 14.4 0.007
#56 3= =i 70 14.5 0.006
#57 3z =51 70 14.6 0.006
458 | 2= WA 70 14.6 0.005
#59 | 2= Wstais 70 14.5 0.004
460 | 2= WA 70 14.5 0.004
#61 | 2= DA 70 14.4 0.005
#eo | 2= astzyA 70 4.6 0.006
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